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B.Com. Part—II (Semester—IV) Examination

INDIAN FINANCIAL SYSTEM

Time : Three Hours] [Maximum Marks : 80

Note :— ALL questions are compulsory.

SECTION—A

(Multiple Choice Questions)

Select suitable alternative :

1. Which of the following are money market securities ?

(a) Short term (b) Long term

(c) Low risk (d) All of these

2. Which of the following is not a component of unorganised money market ?

(a) Money Tenders (b) Commission Agents

(c) Commercial Banks (d) Indigenous Banks

3. Capital market comprises the sources of ———— finance for the industry and government.

(a) Long term (b) Short term

(c) Long and Short term (d) None of these

4. Call money, treasury bill, certificates of deposits, commercial papers and bills of exchange
are instruments of :

(a) Capital market (b) Money market

(c) Share market (d) None of these

5. Imperial Bank of India was named as ———— after nationalisation.

(a) Reserve Bank of India (b) State Bank of India

(c) Central Bank of India (d) Bank of India

6. ATM stands for ———— .

(a) Automated Teller Machine (b) Automatic Teller Machine

(c) Any Time Machine (d) Any Time Money
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7. CDM stands for ———— .

(a) Cash Deposit Machine (b) Cash Debit Machine

(c) Cash Development Machine (d) None of these

8. Indian Banking Regulation Act, was passed in ———— .

(a) 1849 (b) 1949

(c) 1939 (d) 1956

9. The Deposits which are extended for the promotion of saving habit among people :

(a) Time Deposit (b) Current Deposit

(c) Saving Deposit (d) Recurring Deposit

10. Following is the primary function of Commercial Banks :

(a) Accepting Deposits (b) Lending Money

(c) Both (a) and (b) (d) None of these

11. Which one of the following is not included in the type of Commercial Bank ?

(a) Public Sector Bank (b) Co-operative Sector Bank

(c) Private Sector Bank (d) Foreign Bank

12. One of the following deposit fetch high rate of interest :

(a) Saving Account (b) Fixed Deposit

(c) Recurring Deposit (d) Current Account

13. Reserve Bank of India was nationalised on :

(a) 1 January 1949 (b) 1 July 1949

(c) 15 January 1950 (d) 15 August 1948

14. Open market operations are part of ———— .

(a) Credit control (b) Fiscal policy

(c) Industrial policy (d) Investment policy

15. Credit control policy is regulated by ———— .

(a) Government of India (b) State Bank of India

(c) Reserve Bank of India (d) Money Lenders
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16. Meaning of Repo rate is ———— .

(a) Rate at which RBI borrows money from Commercial Banks

(b) Rate at which Commercial Banks borrow money from RBI

(c) Rate at which Govt. lends money to RBI

(d) All of the above

17. At present, there are ———— Stock Exchange in India.

(a) 20 (b) 21

(c) 24 (d) 30

18. The structure of Indian Stock Exchange is ———— type.

(a) Primary (b) Secondary

(c) Primary and Secondary (d) None of these

19. How many companies are included in Nifty ?

(a) 25 (b) 30

(c) 40 (d) 50

20. The base value of the Sensex is ———— .

(a) 500 (b) 200

(c) 100 (d) 50 1×20=20

SECTION—B

Write answer in short :

1. (a) State the problems of financial system in Indian Economy. 4

OR

(b) Define Capital Market. Discuss in brief the instruments of capital market. 4

2. (a) Explain the meaning and concept of core banking. 4

OR

(b) Explain the advantages of E-banking. 4

3. (a) Define the Commercial Bank and state its significance. 4

OR

(b) Explain the primary functions of Commercial Bank. 4
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4. (a) Write the meaning and history of Reserve Bank of India. 4

OR

(b) Explain the developmental functions of Reserve Bank of India. 4

5. (a) Explain the structure of Indian Stock Market. 4

OR

(b) Write the importance of Stock Market. 4

SECTION—C

Write answers in detail :

1. (a) Explain the functions of Indian Financial Market. 8

OR

(b) Explain the importance of Financial System in Indian Economy. 8

2. (a) Define a Bank. Briefly describe the classification of banks in India. 8

OR

(b) What is ATM ? State the advantages of ATM. 8

3. (a) What is Credit Creation ? Explain the limitations of Credit Creation of Commercial
Banks. 8

OR

(b) Explain the role and importance of Commercial Bank. 8

4. (a) Explain the qualitative tools of Credit Control. 8

OR

(b) Explain the role of RBI in Indian Economy. 8

5. (a) Discuss the main functions of Indian Stock Exchange. 8

OR

(b) What is meant by Stock Exchange ? Write the features of Stock Exchange. 8
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¼ejkBh ek/;e½

lwpuk :— loZ iz'u vfuok;Z vkgs-

foHkkx—v

¼cgqi;kZ;h iz'u½

;ksX; i;kZ; fuoMk %

1. uk.ks cktkjkr [kkyhyiSdh dks.kR;k lk/kukaps O;ogkj gksrkr %

(v) vYidkyhu (c) nk?kZdkyhu

(d) deh tks[kehph (M) ojhy loZ

2. uk.ks cktkjkP;k vla?kVhr {ks=kr [kkyhyiSdh dks.kR;k ?kVdkps lekos'k gksr ukgh %

(v) lkodkj (c) vMrs

(d) O;kikjh vf/kdks"k (M) lVkdh is<;k

3. HkkaMoy cktkjkr m|ksx vkf.k ljdkj lkBh ———— foÙk iqjoBîkpk lekos'k vlrks-

(v) nh?kZdkyhu (c) vYidkyhu

(d) nh?kZ vkf.k vYidkyhu (M) ;kiSdh ukgh

4. jks[k ekx.kh] Vªs>jh fcy] Bso izek.ki=s] O;kikjh i=s vkf.k fofue;kph i= gh ———— ps lk/kus vkgsr-

(v) HkkaMoy cktkj (c) eqnzk cktkj

(d) 'ks;j cktkj (M) ;kiSdh ukgh

5. jk"Vªh;h dj.kkuarj bafifj;y cSad vkWQ bafM;k yk ———— vls uko ns.;kr vkys-

(v) fjtoZ cSad vkWQ bafM;k (c) LVsV cSad vkWQ bafM;k

(d) lsUVªy cSad vkWQ bafM;k (M) cSad vkWQ bafM;k

6. ATM Eg.kts ———— -

(v) vkWVksesVsM VSyj e'khu (c) vkWVkseSfVd VSyj e'khu

(d) ,uh VkbZe e'khu (M) ,uh VkbZe euh
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7. CDM Eg.kts ———— -

(v) dS'k fMikWflV e'khu (c) dS'k MsfcV e'khu

(d) dS'k MsoyiesaV e'khu (M) ;kiSdh ukgh

8. Hkkjrh; c¡fdax fue;u dk;nk ———— e/;s eatwj >kyk-

(v) 1849 (c) 1949

(d) 1939 (M) 1956

9. yksdkae/;s cprhph lo; ok<fo.;klkBh ———— [kkrs lq: dj.;kr vkys-

(v) eqnrh Bso (c) pkyw Bso

(d) cpr Bso (M) vkorhZ Bso

10. O;kikjh c¡dkps izkFkfed dk;Z vkgs %

(v) Bsoh Lohdkj.ks (c) dtZ ns.ks

(d) nksUgh ¼v½ vkf.k ¼c½ (M) ;kiSdh ukgh

11. [kkyhyiSdh ,d O;kikjh c¡dsP;k izdkjkr lekfo"V ukgh %

(v) lkoZtfud {ks=krhy c¡d (c) lgdkjh c¡d

(d) [kktxh {ks=krhy c¡d (M) fons'kh c¡d

12. [kkyhyiSdh ———— [kkR;koj O;ktnj tkLr feGrs-

(v) cpr Bso (c) eqnr Bso

(d) vkorhZ Bso (M) pkyw Bso

13. fjtoZ c¡d vkWQ bafM;kps jk"Vªh;dj.k >kys ———— -

(v) 1 tkusokjh 1949 (c) 1 tqyS 1949

(d) 15 tkusokjh 1950 (M) 15 vkWxLV 1948

14. [kqY;k cktkjkrhy O;ogkj gk ———— pk ,d Hkkx vkgs-

(v) izR;; fu;a=.k (c) jktdks"kh; /kksj.k

(d) vkS|ksfxd /kksj.k (M) xqaro.kwd /kksj.k

15. izR;; fu;a=.k /kksj.kkps ———— }kjs fu;eu dsys tkrs-

(v) Hkkjr ljdkj (c) LVsV c¡d vkWQ bafM;k

(d) fj>OgZ c¡d vkWQ bafM;k (M) lkodkj
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16. jsiks jsV Eg.kts ———— -

(v) T;k njkus vkj-ch-vkbZ- O;olkf;d cSadkdMwu iSls ?ksrs

(c) T;k C;kt njkoj okf.kT; c¡dk vkj-ch-vk;- dMwu dtZ ?ksrkr

(d) T;k njkus ljdkj vkj-ch-vk;- yk dtZ nsrs

(M) ojhy loZ

17. l/;k Hkkjrkr ———— LVkWd ,Dlpsat vkgsr-

(v) 20 (c) 21

(d) 24 (M) 30

18. Hkkjrh; LVkWd ,Dlpsatph jpuk ———— izdkjph vkgs-

(v) izkFkfed (c) ek/;fed

(d) izkFkfed vkf.k ek/;fed (M) ;kiSdh ukgh

19. fu¶Vh e/;s ———— daiU;kapk lgHkkx vkgs-

(v) 25 (c) 30

(d) 40 (M) 50

20. lsUlsDlps ¼Sensex½ vk/kkj eqY; ———— vkgs-

(v) 500 (c) 200

(d) 100 (M) 50 1×20=20

foHkkx—c

FkksMD;kr mÙkjs fygk %

1. ¼v½ Hkkjrh; vFkZO;oLFksr foÙkh; iz.kkyhleksjhy leL;k Li"V djk- 4

fdaok

¼c½ HkkaMoy cktkj Eg.kts dk; \ HkkaMoy cktkjkP;k lk/kukaph FkksMD;kr ppkZ djk- 4

2. ¼v½ dksvj c¡fdaxpk vFkZ vkf.k ladYiuk Li"V djk- 4

fdaok

¼c½ bZ&c¡fdaxps Qk;ns fygk- 4

3. ¼v½ O;kikjh c¡d Eg.kts dk; vkf.k R;kps egRo fygk- 4

fdaok

¼c½ O;kikjh c¡dsph izkFkfed dk;sZ Li"V djk- 4
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4. ¼v½ Hkkjrh; fj>OgZ c¡dspk vFkZ vkf.k bfrgkl fygk- 4

fdaok

¼c½ Hkkjrh; fj>OgZ c¡dsps fodklkRed dk;Z Li"V djk- 4

5. ¼v½ Hkkjrh; Lda/k] foi.khph jpuk Li"V djk- 4

fdaok

¼c½ Lda/k cktkjkps egRo fygk- 4

foHkkx—d

lfoLrj mÙkjs fygk %

1. ¼v½ Hkkjrh; foÙkh; cktkjkph dk;sZ Li"V djk- 8

fdaok

¼c½ Hkkjrh; vFkZO;oLFksr foÙkh; iz.kkyhps egRo Li"V djk- 8

2. ¼v½ ^c¡d* Eg.kts dk; \ Hkkjrkrhy c¡dkaps oxhZdj.k FkksMD;kr Li"V djk- 8

fdaok

¼c½ ATM Eg.kts dk; \ ,Vh,eps Qk;ns fygk- 8

3. ¼v½ O;kikjh c¡dkph izR;; fuehZrh Eg.kts dk; \ O;kikjh c¡dkaP;k izR;; fufeZrhP;k e;kZnk Li"V
djk- 8

fdaok

¼c½ O;kikjh c¡dsph Hkwfedk vkf.k egRo Li"V djk- 8

4. ¼v½ izR;; fu;a=.kkph xq.kkRed lk/kus Li"V djk- 8

fdaok

¼c½ Hkkjrh; vFkZO;oLFksr vkj-ch-vk;- ¼RBI½ ph Hkwfedk Li"V djk- 8

5. ¼v½ Hkkjrh; Lda/k foi.khph eq[; dk;Z Li"V djk- 8

fdaok

¼c½ Lda/k foi.kh Eg.kts dk; \ Lda/k foi.khaph oSf'k"Vîs Li"V djk- 8
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¼fgUnh ek/;e½

lwpuk :— lHkh iz'u vfuok;Z gSaA

foHkkx—v

¼cgqi;kZ;h iz'u½

lgh fodYi pqfu;s %

1. fuEufyf[kr esa ls dkSu&lh eqnzk cktkj dh izfrHkqrh gS \

(v) vYidkyhu (c) nh?kZdkyhu

(d) de tksf[ke (M) mijksDr lHkh

2. fuEufyf[kr esa ls dkSu&lk vlaxfBr eqnzk cktkj dk ,d ?kVd ugha gSa \

(v) lkgwdkj (c) vfHkdrkZ

(d) O;kikjh vf/kdks"k (M) Lons'kh vf/kdks"k

3. iwath cktkj esa m|ksx vkSj ljdkj ds fy, ———— foÙk ds òksr 'kkfey gSaA

(v) nh?kZdkyhu (c) vYidkyhu

(d) nh?kZ o vYidkyhu (M) buesa ls dksbZ ugha

4. dkWy euh] Vªstjh fcy] tek i=] O;kikjh i= vkSj fofue; i= ———— ds lk/ku gSaA

(v) iwath cktkj (c) eqnzk cktkj

(d) 'ks;j cktkj (M) buesa ls dksbZ ugha

5. bEihfj;y cSad vkWQ bafM;k dks jk"Vªh;dj.k ds ckn ———— ukfer fd;k x;k FkkA

(v) Hkkjrh; fjtoZ cSad (c) Hkkjrh; LVsV cSad

(d) lsaVªy cSad vkWQ bafM;k (M) cSad vkWQ bafM;k

6. ATM dk foLrkjhr :i gS ————A

(v) vkWVksesVsM VSyj e'khu (c) vkWVkseSfVd VSyj e'khu

(d) ,uh VkbZe e'khu (M) ,uh VkbZe euh
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7. CDM dk foLrkjhr :i gS ————A

(v) dS'k fMikWftV e'khu (c) dS'k MsfcV e'khu

(d) dS'k MsoyiesaV e'khu (M) buesa ls dksbZ ugha

8. Hkkjrh; cSafdax fofu;eu vf/kfu;e ———— esa ikfjr fd;k x;kA

(v) 1849 (c) 1949

(d) 1939 (M) 1956

9. yksxksa esa cpr dh vknr dks c<+kok nsus ds fy, ———— dk mi;ksx fd;k tkrk gSA

(v) lkof/k [kkrk (c) pkyw [kkrk

(d) cpr [kkrk (M) vkorhZ [kkrk

10. okf.kT; cSadksa dk izkFkfed dk;Z gS ————A

(v) tek dks fLodkj djuk (c) _.k iznku djuk

(d) ¼v½ vkSj ¼c½ nksuksa (M) buesa ls dksbZ ugha

11. fuEufyf[kr esa ls dkSu&lk okf.kT; cSad ds izdkj esa 'kkfey ugha gS \

(v) lkoZtfud cSad (c) lgdkjh cSad

(d) futh cSad (M) fons'kh cSad

12. fuEu esa ls ———— [kkrs ij vf/kdre C;kt izkIr gksrk gSA

(v) cpr [kkrk (c) lkof/k [kkrk

(d) vkofrZ [kkrk (M) pkyw [kkrk

13. Hkkjrh; fjtoZ cSad ———— dks jk"Vªh;dj.k fd;k x;k FkkA

(v) 1 tuojh 1949 (c) 1 tqykbZ 1949

(d) 15 tuojh 1950 (M) 15 vxLr 1948

14. [kqys cktkj esa fcØh ———— dk fgLlk gSA

(v) lk[k fu;a=.k (c) jktdks"kh; uhfr

(d) vkS|ksfxd uhfr (M) fuos'k uhfr

15. lk[k fu;a=.k uhfr ———— }kjk fu;a=hr fd;k tkrk gSA

(v) Hkkjr ljdkj (c) Hkkjrh; LVsV cSad

(d) Hkkjrh; fjtoZ cSad (M) lkgwdkj
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16. jsiks jsV dk vFkZ ¼Repo rate½ gS ———— -

(v) ftl nj ij vkj-ch-vkbZ- okf.kT; cSadksa ls iSlk m/kkj ysrh gS

(c) ftl nj ij okf.kT; cSad vkj-ch-vkbZ ¼RBI½ ls _.k ysrs gSa

(d) ftl nj ij ljdkj RBI dks _.k nsrh gS

(M) mijksDr lHkh

17. orZeku esa Hkkjr esa ———— LVkWd ,Dlpsat gSA

(v) 20 (c) 21

(d) 24 (M) 30

18. Hkkjrh; LVkWd ,Dlpsat dh lajpuk ———— izdkj gSA

(v) izkFkfed (c) f}rh;d

(d) izkFkkfed vkSj f}rh;d (M) buesa ls dksbZ ugha

19. fu¶Vh esa ———— daifu;ka 'kkfey gSaA

(v) 25 (c) 30

(d) 40 (M) 50

20. lsalsDl dk vk/kkj ewY; gS ————A

(v) 500 (c) 200

(d) 100 (M) 50 1×20=20

foHkkx—c

la{ksi esa tokc nsa %

1. ¼v½ Hkkjrh; vFkZO;oLFkk esa foÙkh; iz.kkyh dh leL;k,a Li"V dhft,A 4

vFkok

¼c½ iwath cktkj dks ifjHkkf"kr dhft,A iwath cktkj ds lk/kuksa ij laf{kIr ppkZ dhft,A 4

2. ¼v½ dksj&cSafdax dk vFkZ vkSj vo/kkj.kk Li"V dhft,A 4

vFkok

¼c½ bZ&cSafdax ds ykHk Li"V dhft,A 4

3. ¼v½ okf.kT; cSad dks ifjHkkf"kr djsa rFkk bldk egRo crkb,A 4

vFkok

¼c½ okf.kT; cSad ds izkFkfed dk;ksZ a dks Li"V dhft,A 4
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4. ¼v½ Hkkjrh; fjtoZ cSad dk vFkZ o bfrgkl fyf[k,A 4

vFkok

¼c½ Hkkjrh; fjtoZ cSad ds fodklkRed dk;Z Li"V dhft,A 4

5. ¼v½ Hkkjrh; LVkWd cktkj dh lajpuk dh O;k[;k dhft,A 4

vFkok

¼c½ LVkWd cktkj ds egRo Li"V dhft,A 4

foHkkx—d

foLrkj ls tokc fyf[k, %

1. ¼v½ Hkkjrh; foÙk cktkj ds dk;ksZ a dks Li"V dhft,A 8

vFkok

¼c½ Hkkjrh; vFkZO;oLFkk esa foÙkh; iz.kkyh ds egRo dks le>kb,A 8

2. ¼v½ cSad dks ifjHkkf"kr dhft,A Hkkjrh; cSadksa dk oxhZdj.k la{ksi esa of.kZr dhft,A 8

vFkok

¼c½ ,Vh,e ¼ATM½ D;k gS \ ,Vh,e ds ykHk Li"V dhft,A 8

3. ¼v½ lk[k fuekZ.k D;k gS \ okf.kT; cSadksa ds lk[k fuekZ.k dh lhek;sa Li"V dhft,A 8

vFkok

¼c½ okf.kT; cSad dh Hkwfedk vkSj egRo Li"V dhft,A 8

4. ¼v½ lk[k fu;a=.k ds xq.kkRed lk/ku Li"V dhft,A 8

vFkok

¼c½ Hkkjrh; vFkZO;oLFkk esa vkjchvkbZ ¼RBI½ dh Hkwfedk Li"V dhft,A 8

5. ¼v½ Hkkjrh; LVkWd ,Dlpsat ds eq[; dk;kZa s dh ppkZ dhft,A 8

vFkok

¼c½ LVkWd ,Dlpsat dk vFkZ fyf[k,A LVkWd ,Dlpsat dh fo'ks"krk,a fyf[k,A 8


